AP® MICROECONOMICS
2006 SCORING GUIDELINES

Question 2

7points(1+1+2+2+1)

(a) 1 point:
e One point is earned for indicating that TFC is $20.

(b) 1 point:
e One point is earned for indicating that MC of the first unit is $7.

(c) 2 points:
e One point is earned for indicating that the profit-maximizing output=4 units (or
between 4 and 5 units).
e One point is earned for explaining that MR>MC for all units until Q=5 (or direct
calculation of TR-TC).

(d) 2 points:
e One point is earned for concluding that the number of firms will increase.
e One point is earned for explaining that profits will attract new firms to enter.

(e) 1 point:
e One point is earned for stating that there is no change in the profit-maximizing output.
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AP® MICROECONOMICS
2006 SCORING COMMENTARY

Question 2
Overview

The question tested students’ ability to understand cost, and short-run and long-run profit maximization in
perfect competition. Based on a given short-run cost function, students were asked in parts (a) and (b) to
determine fixed cost and marginal cost. In part (c) students were asked to identify the profit-maximizing
output and based on that information determine in part (d) how the number of firms in the industry would
change. Part (e) required students to determine the effect of a per-unit tax on output in the long run.

Sample: 2A
Score: 7

The student received full credit. Though the student received the point for part (e) for the correct assertion,
note that the reasoning given (that "MC did not change") for why the profit-maximizing output does not
change is incorrect.

Sample: 2B
Score: b

The student lost 1 point in part (d) for an inadequate explanation of why the number of firms will increase in
the long run. The student lost the point in part (e) for incorrectly concluding that the quantity will decrease.

Sample: 2C
Score: 2

The student earned 1 point in part (a) for identifying the total fixed cost, and 1 point in part (b) for identifying
the marginal cost of the first unit.
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